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Abstract

Two models are described whose solution is the current density in a tubular
conductor that is given by the radii r; < r, and supplied from an ideal current
source of a frequency that does not exceed 1 GHz. It has been proven that
the two models are equivalent, but model 1 can practically be used only to
calculate current density in a cylindrical conductor (r; = 0). The general
methods proposed are applied to several concrete examples of tubular and
cylindrical conductors. The solution of examples is given in the figures. In the
solution of examples, attention is devoted to problems that are connected with
the realization of numerical calculation on a computer.

PACS numbers: 41.20.—q, 02.60.—x, 84.32.Ff

1. Introduction

Consider a solitary massive conductor of infinite length whose cross-section is in the shape
of annular area. The longitudinal axis of the conductor is axis z of the system of Cartesian
coordinates xyz. In addition to the xyz coordinates, the system cylindrical coordinates r¢z
is also considered. Because of the symmetry with respect to axis z, the ¢ coordinate will not
be used in the following. The conductor cross-section in the xy plane is determined by the
inequalities r; < r < 1o, r; = 0. The conductor is connected to an ideal current source [1]
whose current only depends on time ¢ € [0, 00). The ideal current source supplies current,
but the current does not flow through the source so that no back conductor to the tube under
examination needs to be considered [2]. This case differs substantially from the case solved
in [3, 4], where the existence of a back conductor is assumed. The current density vector J
is in the direction of axis z and only depends on r and . J = (0,0, J), with J = J(r, 1)
having a non-zero value only on the interval [r;, r,]. The current flowing through the conductor
excites a magnetic field that is determined by the vector B or H, whose magnitude B or H
also depends on only r and #. The fact that J, B and H do not depend on z actually means
that an infinitely high propagation velocity of an electromagnetic field is assumed. In such a
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case, the current is considered to be slowly varying [5]. We assume that the permeability of
the conductor and its environs is (. The conductor resistivity o is so low that displacement
current d.D /9t can be neglected. In the whole of this paper the part of the conductor between
the planes z = z; and z = z,, where z; < 22, 22 — 21 = 221, Will be considered.

The magnetic field of a current flowing through a tubular conductor is easy to determine
using Ampere’s circuital law [5, 6]:

fﬂ dC = / J-dAc, (1)
Ac

where C is a simple finite closed curve that is smooth by parts [7], the only curve in the
following, and A is a simple finite surface that is smooth by parts [7], the only surface in the
following, bounded by the curve C. Current from the current source is affected in the conductor
by currents that are induced in the conductor according to Faraday’s law of electromagnetic
induction. According to this law, in every closed curve C whose position and shape do not
depend on ¢ electromotive force is induced:

od
emfczygE-dC=——, 2
c at
where E is the vector of the electric field, and
o = B.-dAc
Ac

is a magnetic flux linking the curve C, which does not depend on the shape of surface A¢ [5].
In addition to the validity of relations (1) and (2), we will further assume that it holds

1
J=vyE, where y = —, 3)
0
V.-J=0, 4)
B = uH, (5
V.B=0.

2. Current density in a tubular conductor

The cylindrical conductor is a special case of the conductor under consideration for r; = 0.
The method for calculating the current density in a cylindrical conductor was first proposed by
Maxwell; it is given, for example, in [8]. Two models will be described below, whose solution
is the current density in a tubular conductor supplied by an ideal current source.

2.1. Model 1

To derive model 1 we will, in principle, use the procedure proposed in [8]. The starting point
is relation (1) and relation (2) in the differential form

VxH=1J, (6)
oB
VXE=—— 7
ot
Using (6), equation (5) can be arranged to the form
V x B = uyd. 3
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With the aid of (3), we will substitute for E in (7). After applying the rotation operation to
(7) we will, with the help of (8), obtain

a
VxVxJ:—yEVxB.
In re-writing this equation, we take into consideration (4) and (8) and obtain
aJ
VAT — poy— =0. ©)
at
The conductor is symmetrical with respect to axis z, and so J only depends on r and ¢, and its

only non-zero component is J,. Model 1 is equation (9) written for the component J, alone.
For a conductor supplied by sinusoidal current

J. = J(r)sin[wt +a(r)],

equation (9) can be solved for complex current density
Jexp(jwt), whereJ = f(r) exp(a(r)).

Substituting complex current density for J in (9) will, after minor re-writing, yield the equation
&?J 1dJ )
—=4+-=—jk*J] =0, 2= , 10
ST K> = ooy (10)

which phasor J must satisfy. In addition to r, consider also the independent variable

X = Kr, X € [kri, kro]. (11
It holds

dJ dJ d*J 2d2i

— =Kk—, —— =Kk—=.

dr dx dr? dx2

We will restrict ourselves to r > 0, i.e. r; > 0. On this assumption, we can multiply
equation (10) by r2. Using (11) we express r and obtain the Kelvin differential equation [9]
,d2J*  dJ*

02 +x d; —jx?J* =0, (12)

where
X
r=rwm=4().
K
By [7], the general solution of equation (12) is
J*(x) = cp[ber(x) +jbei(x)] + cx[ker(x) +jkei(x)], (13)
with Kelvin functions ber(x), bei(x), ker(x) and kei(x) defined, for example, in [7], and the
constants cp and cg determined by initial conditions.
2.2. Model 2

When formulating model 2, the starting point is relations (1), (2) and Kirchhoff’s voltage law.
Unlike in model 1, in model 2 it is not necessary to assume that r; > 0; there can also be r; = 0.

We choose division D,, of the interval [ry, 7,] with the aid of points rg < 7| <rp < -+ < 1y,
with ro = r; and r, = r,. We assume that fork = 1, 2, ..., n, D, satisfies the condition
2 2
22 T (” o — N )
a=m(r{ —riy). where a = —>——~.
n

By means of the division D, we can divide the conductor into n partial conductors, with the
cross-section of the kth conductor being an annulus determined by the circles r = r;_; and

3
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Figure 1. Substitute circuit of a loop formed by the kth and (k + £)th partial conductors between
the planes z = zj and z = z».

r = r¢. The conductor resistivity is constant and therefore the current density in the conductor
will be continuous with respect to r and thus it can at any instant of time be approximated
with arbitrary precision by a function that is constant by parts such that in the kth partial
conductor its magnitude is Ji(¢), independent of r. A current aJi(¢) flows through the kth
partial conductor. The kth and (k + £)th partial conductors (£ > 0) between the planes z = z;
and z = z, can be replaced by a lumped-elements circuit; the schematic diagram of the circuit
is given in figure 1. The number of such (mutually different) circuits is n(n — 1)/2, but there
are only n — 1 independent circuits among them. Using the independent circuits, all potential
circuits can be created. In the following, we will therefore consider only independent circuits
for £ = 1. For the kth independent circuit, it holds by Kirchhoff’s law

U1 (1) — Ur(t) — U k(1) =0, k=1,2,...,n—1, (14)

where Uy ; is the voltage induced in the kth circuit and Uy and Uy, are voltages across the
resistances that substitute the respective partial conductors. It holds

U1 — U = 0221 (Jgs1 — J0). (15)
Let us choose the points ¢; < ¢; < --- < ¢, such that r,_; < ¢ < . Let us denote
~ 0P
Upr=—, P = B-dAc,
ot Ac

with A¢ being a rectangle Sy = [ck, cx+1] X [21, 22] in the plane y = 0 and the curve C the
boundary of this rectangle. If we take into consideration the fact that the magnetic field B
excited by the current in the conductor under consideration has on the circle r = const the
direction of the tangent to this circle, then it follows from the above that

~ 9 [
Upi(t) = &l (; Jz(t)/C

k

Ck+1

%g(i’)d}’) , (16)

where %, (r) is a magnetic field excited by the ¢th partial conductor per unit current density,
i.e. By(r) is expressed in Wb A~!. The quantity %, (r) is easy to calculate using (1). For
given cy, ¢z, . . ., ¢y, the magnetic fluxes considered depend on ¢ alone. The function J,(¢) on
the right-hand side of relation (16) also depends on ¢ alone, and therefore the derivative d/0¢
can be replaced by the derivative d/dz.

4
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For a sufficiently large n the electromotive force U 1« induced around the boundary of the
rectangle Sy differs little from the voltage Uy ; induced in the kth circuit so that using (15),
(16) and (3), equation (14) is in the form

! d
Jes1 (1) — Je(6) — y ; P Je(1) =0, k=1,2,...,n—1,  (17)
where
Ck+1
(Dkg = ﬁg(}’) dr.

Ck

Relation (17) is a system of n — 1 ordinary differential equations for unknown functions
Ji(t), k= 1,2,...,n. These functions cannot be determined by means of (17) because the
number of unknowns is by one greater than the number of equations; in the following, we
therefore distinguish between model 2I and model 2J.

In model 21, we add to equation (17) the equation

n
ay J=1I (18)
=1

where [ is the chosen current flowing through the conductor. Model 2I is a system of
differential-algebraic equations [10] formed by a system of differential equations (17) extended
by algebraic equation (18).

Model 2J will be obtained by choosing one of the current densities J;(¢), k =1,2,...,n,
such that it is non-zero, for example J;(¢). After substituting the chosen current density into
(17), this system will change to a system of » — 1 non-homogeneous differential equations for
unknown functions Jy(¢t), Jo(t), ..., Je_1(t), Jgz1(t) ..., J.(2).

For a conductor supplied by sinusoidal current, the current density or the complex current
density in the kth partial conductor will be

Je(t) = Jy sin(or + o) (19)
or
Jrexp(jwt), where  J; = Jeexp(j o).

For the complex current density, (17) can be rewritten as a system of equations

Jin — S —joy Y Pty =0, k=1,2,....,n— 1. (20)
=1

In model 2I (20) will be extended by equation (18) written for the respective phasors. This
will yield a system of 7 linear non-homogeneous equations for phasors Ji, Ja, ..., J,. We
obtain model 2J by choosing one of these phasors and substituting it in (20). A normalized
model 2J is obtained by normalizing equations (20), i.e. dividing them by one of the phasors,
e.g. J;. Normalized phasors

J
Joo== k=1,2.....s—1.s+1.....n,
—Lrel Js

are the solution of normalized system (20), and I = 1.
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3. Comparison of the two models

Zero current density satisfies system (17) and it obviously also satisfies equation (12). Zero
solution corresponds to a state when the conductor is not connected to the source. In
model 2, i.e. model 2I or model 2J, the current density J (, t) in a conductor is determined by
the functions Ji(t),k = 1,2, ..., n. If some current density J(r, ) is the solution of model
1 or model 2, then any multiple of this current density is also the solution of the respective
model. Every solution of model 21 or model 2J can be normalized using J;. It is easy to prove
that for given «, n and s, such normalized solutions of models 21 and 27 are identical to the
solution of model 2J normalized with respect to J;.

Every r € [ri, ro] lies in some partial interval [r;_;, r¢]. Using the notation introduced in
this paper, we can thus write J (r, t) = J;(¢) and

B(r,t) =) Ju()Bu(r).

=1
For ¢, = r and ¢4 = r + Ar, equation (17) can be written in the form

P r+Ar
J(r+Ar,t)—J(r,t)—y5/ B(r,t)dr =0. 21

The magnetic field in the conductor is continuous and therefore the mean value theorem
[7, 11] can be applied, according to which

r+Ar
/ B(r,t)dr = ArB(r + 6 Ar, t), 6 €(0,1),
and equation (21) can be written in the form

Jr+AnD — T 1)
rrann - J@ )—yEB(r+9Ar,t)=0.

Ar
For Ar — 0, this equation converges to the equation
2 2B @2)
— —y—B(@1).
or Ve

In this equation we express B(r, t) in terms of (1) and (5), differentiate the equation with respect
to r, and after some rewriting we obtain equation (9). This result increases the probability
that the two models considered are correct, but it poses a question: is it necessary to deal
with model 2 described by equations (17) and (18) when there exists model 1 described by
the elegant equation (9)? Moreover, the solution of equation (9) is also expressed explicitly
by formula (13) if the conductor is supplied by sinusoidal current.

According to [7, 12, 13], equation (12) has in the interval [«r;i, kF,] a unique solution
J*(x), which satisfies the initial conditions

d
JU(X) =Y, aJ_X(X) =1,

where X, Yy and Y, are the given numbers, X € [«ri, kr,]. The unique solution is given by
relation (13), in which the constants cp and cg are determined using the initial conditions.
According to subsection 2.1, the phasor of current density J (r) is the solution of equation (10)
on the interval [r;, r,], where r; > 0, and it holds

J(r) = cplber(kr) +jbei(kr)] + cx[ker(kr) +jkei(kr)], (23)
with the constants cg and cg being the solution of a system of linear equations:

cplber(kr) +jbei(xr)] + cx [ker(k7) +jkei(x7)] = p, 24)
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cplber’ (k7) +jbei’ (k7)) + cx[ker (k) +jkei' (kF)] = %, (25)

where the apostrophe denotes derivatives with respect to x, and

d
J(F) = p, L= d, (26)

with 7, p and d being the given numbers 7 € [r;, 1,]-

Choosing the numbers 7 and p is no problem; the problem is to choose a priori the number
d. The first condition in (26) is matched in model 2J by the choice of current density J (%),
while the second condition in (26) is a price for differentiating. Model 2 starts from integral
relations (1) and (2), whereas model 1 starts from differential relations (6) and (7). In the
above proof of the equivalence of the two models, equation (9), which represents model 1, is
obtained from equation (22) of model 2 by differentiating with respect to r. A consequence of
every differentiation is the loss of information, and this information has to be complemented.
In model 1, this complementation is the second condition in (26).

4. Examples

In all the examples given below it is assumed that the total current through the conductor
(see (18))is I = sinwt, i.e.

1=1, I =1A.

In agreement with (19), the phasor of current density in conductor J () is given by the numbers
jk and oy, k = 1,2,...,n, which are obtained by solving equations (20) and (18). In the
following figures, the normalized amplitude of the current density Ji = Jiei () is shown as a
curve joining the points (¢, J &/ Jmax), where

Jmax = max Jy.
k=12,
The initial phase angle « of the current density in the kth partial conductor in the figures

is shown as a curve «(r) joining the points (ck, ax). The points ¢, k = 1,2,...,n, (see
subsection 2.2) were chosen as follows:

— 1(1 — @)i| , ® [0, 1]. 27

Cy =rFp + (Vk — rk—l) |:® +
n

With this choice, it holds ¢, = r, and Jhx = J »- The calculated current density is practically
independent of ® and n if n > 200. The resistivity values at a temperature of 293 K, which is
used in examples, were taken over from [14]

Metal 0 (1078 Qm)
Silver (Ag) 1.587
Copper (Cu) 1.678
Aluminium (Al) 2.650
Platinum (Pt) 10.5
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Jrel (‘)

1.00

Platinum

0.99

0.98

0.97

0.96

Figure 2. Normalized amplitude of current density in a conductor cross-section in example 1.

a (deg)

15 T
10 - =
Silver
5L _
= Platinum =
5 _
-10 1 1 |
4 6 8 7 (mm) 10

Figure 3. Initial phase of current density in a conductor cross-section in example 1.

4.1. Example 1

A silver or platinum tubular conductor is 8 mm in inner diameter (r; = 4 mm) and 20 mm in
outer diameter (r, = 10 mm); the angular frequency of the current source w = 2 f, where
f =60Hz.

The calculated dependence of the normalized amplitude Ji; and of the initial phase o
of the current density on the distance r from the conductor axis is shown in figure 2 and in
figure 3, respectively. The normalized amplitude of current density in figure 2 is the solution
of model 2I. The same values as in figure 2 would be obtained by normalizing the solution of
model 2J or by solving model 2J for

Jy = Jy = exp(j ),

where o, = a(r,) in figure 3. When choosing J; = J, with the initial phase «, # «,, the
curve o (r) will be shifted in parallel such that a(ry) :E,’l. The dependence of the curve o/(r)
on the choice of the angle of phasor J; does not indicate any ambiguity of the solution of
model 2J; it is merely the choice of the instant = 0. It holds

sin(wf + o) = sin(wt’ + o))
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Jrel (7)
1

107? 7
o

107? *
+
r (mm)

Figure 4. Normalized amplitude of current density in the cross-section of a conductor in example
2 obtained via solving model 2 (solid line) and model 1 (isolated points) for differently chosen
initial conditions.

o (deg)

180 -

90

-90

-180

4 6 8 10

r (mm)

Figure 5. Initial phase of current density in the cross-section of conductor in example 2 obtained via
solving model 2 (solid line) and model 1 (isolated points) for differently chosen initial conditions.

for
:t+a" —a;,+2197t’
1)
where ¢ is an integer. Likewise, the solution of model 2I is affected by the choice of the angle

of phasor /.

/

t

4.2. Example 2

A copper conductor of the same dimensions as in example 1 is supplied from a source of
frequency f = 10 kHz.

The current density in the conductor, shown in figures 4 and 5, was obtained via solving
model 2l forn = 500, ® = 0. Using this solution, complex numbers p and d can be determined

9
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for any arbitrary chosen 7 € [ri, ,] that satisfy relation (26), and by solving equations (24)
and (25) cp and cg can be obtained. This in fact determines the solution of (23) of model 1.
Several isolated points of the solution of model 1 are illustrated in figures 4 and 5 for three
different values of 7. The curve «(r) in figure 5 has one discontinuity point. This discontinuity
is only apparent since the phasor angle is adjusted such that it holds « € (—180, 180] deg.
The number of points of apparent discontinuity increases with increasing f. Equation (12)
is linear with respect to the derivatives and its solution is defined for at least r € [rj, ro].
According to [7] 7 can be chosen anywhere in the interval [ri, r,], but figures 4 and 5 do not
testify to this. In section 3, it was proved exactly that the two models were equivalent. The
discrepancy between the solutions of model 2 and model 1 for # = 7 mm and 10 mm can only
be explained by the sensitivity of model 1 to initial conditions and by the fact that the value d
was obtained by numerical differentiation of discrete data obtained by the solution of model 2.
The differentiation of numerical data does not exactly belong to precise numerical operations
[15]. On this occasion, attention should also be drawn to potential problems in the calculation
of the current density phasor using formula (13) since the calculation of the values of Kelvin
functions is for higher values of x numerically unstable. For example, the calculation of the
functions ker and kei by simply adding up the series in terms of which these functions are
defined is in d.p. (double precision) unstable already for x > 12. For a copper conductor and
r = 10 mm we have, by (11), x > 12 already for f > 3.2 kHz. In the present work therefore,
asymptotic formulae are used that are given in [16]. The problems of calculating the Kelvin
functions have also attracted attention quite recently, as witnessed by Mingli et al [3, 17].

4.3. Example 3

An aluminium tubular conductor is 16 mm in inner diameter and 20 mm in outer diameter;
the current source frequency is f = 1 MHz to 1 GHz.

In the present paper it is assumed that the vectors J and B do not depend on the
z coordinate, i.e. the current is considered to be slowly varying (according to [5]). This
restriction can be met by requiring that the maximum linear dimension of the system, £,,x, be
much smaller than the free space wavelength associated with the driving frequency. That is

<

’
g max

where c is the speed of light in vacuum. By this criterion and for £,,,x = 0.1 m, the frequency
1 GHz is at the upper limit of the applicability of models 1 and 2.

The calculated dependence of the normalized amplitude Ji; and the initial phase « of
current density on distance r from the conductor axis is shown in figures 6 and 7, respectively.
The magnitude of Ji in the right neighbourhood of point r; decreases with increasing f.
With increasing f, the condition number [18] of matrix My or Mj of the system of linear
equations of model 2I or model 2J also increases. Roughly speaking, the condition number
of matrices M and M increases with increasing f and r,, and with decreasing r;. With an
increasing condition number, matrices M| and M become ill-conditioned [15], and in the
numerical calculation the result of the calculation may be distorted due to rounding errors or,
in the extreme case, matrices My and M cannot be inverted. The calculation precision is
given by the number of bits reserved in the computer for representing a real number. Usually
it is 64 bits, and this precision is called d.p. In a calculation with the given precision there
may be problems if some values Ji/Jma, are comparable with the machine epsilon, which is
the minimum number that is not negligible with respect to the number 1. In d.p., the machine
epsilon is equal to 272, There will certainly be problems in the calculation if some values
Ji/ Jmax are comparable with the least number that is represented in the computer as non-zero;

10
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Jrel (_)
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10—100

107150

10—200

| 1 | 1 1 1
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Figure 6. Normalized amplitude of current density in the cross-section of a conductor in
example 3.

a (deg)
180 —

90 -

90 +

-180 |-

r (mm)

Figure 7. Initial phase of current density in the cross-section of a conductor in example 3 for
f =1MHz.

in d.p. it is 27'922, In figure 6, the curves for f > 1 MHz show the solution obtained by

calculation with greater precision than d.p. In figure 6, the result of numerical calculation is
plotted irrespective of the possibility of realizing the large range of current density.

5. Current density in a cylindrical conductor

The cylindrical conductor is a tubular conductor with zero inner diameter, i.e. r; = 0.
Model 1 is expressed by equation (12) and its solution (13) for initial conditions (26).
Equation (12) was derived for r; > 0 and thus its application to calculate current density
in the cylindrical conductor is not quite correct without some detailed reasoning. The point
x = 0, where x = «r, is the singular point of equation (12). This singularity can, however, be

11
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removed because the limit of all three members on the left side of equation (12) is finite for
x — 0+.

We will show that the solution of model 1 for the cylindrical conductor is given by the
relation
14

J(r) = cp[ber(kr) +jbei(kr)], cp = ber(xF) +] beier)”

(28)

where p is the chosen current density factor at a distance 7 from the conductor axis; 7 > 0.
Solution (28) corresponds to the solution of model 2J for a given J(¢), with 7 lying in the sth
partial conductor.

Proof. In the proof of the statement, we will consider the initial conditions
d
J(F) = p, L= d, F 7 el0,r],
r

which are more general than conditions (26). We choose a sequence of tubular conductors
such that r; gradually decreases, and r; — 0+. For each tubular conductor we always choose
7 = r;, while we consider 7 to be chosen fixed if 7 > r;. In case ¥ < r;, we will choose 7 = r;.
Proceeding like this is not in contradiction with 7 being given a priori since in the examination
of the given sequence of tubular conductors, what is of importance is the state when the limit
is reached. There are two possibilities: either 7 > 0 or ¥ = 0. For 7 > 0, a finite number
of steps must lead to 7 > ri. If ¥ = 0, this equality occurs exactly in the limit. According to
section 3, the constants cg and ck are the solutions of the equations

cplber(kF) +jbei(k7)] + cx [ker(k7) + j kei(kF)] = p, 29)
cplber (i) +jbei’ (k7)] + cx [ker (k7) + j kel (k7)] = i, (30)
K

where the apostrophe denotes derivatives with respect to x = kr. For r; — 0+ the functions
ber'(k#), bei’ (k#) and kei' (k) converge to zero since # = r;. Thus by (30)

d
— s
K ker' (k7))
and this means that cx — 0 because

lim ker'(k7) = —oo0.

F—>0+

This also proves that cxk = O for the cylindrical conductor and the validity of (28) follows from
(23) and (29). Let us only add that for 7 = 0, the relation cg = p holds because ber(0) = 1
and bei(0) = 0.

An idea of the effect of the magnitude of n on the solution of model 2 can be formed by
comparing the solutions of models 1 and 2 for the cylindrical conductor. Figure 8 gives a part
of the solution of models 1 and 2J for an aluminium conductor of 20 mm in diameter, f =
10° Hz. Both models were solved on the assumption that J(r,) = 1 A m~2; their solution
differs the most in the neighbourhood of the longitudinal conductor axis. This magnitude of
deviation depends on n and ®. Shown in figure 8 is the J(r) amplitude of the solution of
model 1 in the neighbourhood of point » = 0 by a continuous curve, and the solution of model
2J is illustrated by amplitudes J for several values of n. When calculating the solution of
model 2], ® = 0.5 was chosen in formula (27). Let us add that the convergence of the solution
of model 2 to the solution of model 1 worsens with increasing frequency f.

Figure 9 illustrates the normalized phasor J,.;, = J/Jmax in Gaussian plane for several
frequencies in a cylindrical aluminium conductor of 20 mm in diameter. For f = O the

current density in the conductor cross-section is constant, J ,(r) = 1, and its normalized

12
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Figure 8. Amplitude of the solution of models 1 (solid line) and 2J (isolated points) in the
neighbourhood of a longitudinal conductor axis.
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Figure 9. Normalized phasor of the solution of model 2J in Gaussian plane in dependence on the
frequency of the source.

phasor is shown as a point marked with a circle. If f > 0, then each curve in figure 9 begins
at the point J_,(r,), at which it holds |/, (r,)| = 1, and it ends at the point J (0). The
argument of current density phasor in the cylindrical conductor has a similar course as in
the tubular conductor (see figures 3, 5 and 7). The curve for f = 10° Hz forms a spiral in
the neighbourhood of the beginning of the Gaussian plane, which runs several times round the
beginning. This spiral cannot be seen in figure 9 because for » < 9.239 mm the module of
phasor J . is in the interval (1072, 10~*) and therefore the spiral blends in with the beginning

of the Gaussian plane.
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6. Conclusion

In the paper, two models are described whose solution is the current density in an isolated
tubular conductor supplied by an ideal current source with a frequency not exceeding 1 GHz.
It is proved in section 3 that the two models are equivalent. For the source of sinusoidal
current, model 1 is represented by equation (12), by its general solution (13) and by initial
conditions (26). Models 2I and 2] are in principle formed by a system of linear equations (19)
and by the condition placed on the total conductor current or on the current density. Model 1
cannot be used in the case that ; > 0 because d in (26) cannot be determined a priori. It was
shown in section 5 that for the cylindrical conductor in the general solution, (13), the constant
ck is equal to zero and thus model 1 is in this case useable.

The proposed general methods are used on several actual examples of tubular and
cylindrical conductors. The solutions of examples are given in the figures. When solving
the examples, much attention is devoted to the problem associated with the realization of
numerical calculation on a computer.
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